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Which of the following d'S‘-‘l‘;CIS Is yery dgd MR ? q’ﬁﬂ'—l ':‘l-‘.iﬁ-;l
€Ommon amongst the livestock ? (A) iﬁﬁ’ﬁﬁm
(A)  Brucellosis (B) Hegehi-
(B) ' Foot and Mouth Discase ©) (A) IR (B) ;.
(C) Both (A) and (B) D) I § & 1
(D)  None of the above
2. SEq Yftey
2. The File mode parameter jos::app belon&® s o app
to_____ Stream type. mﬁ@qﬂﬁf\uﬁ% I
(A) isstream (B) ofstream (A) isstream (B) ofstream
(C) strstream (D) ifstream (C)  strstream (D) ifstream
3. ThesSI unit of modulus of elasticity i 3. SITEAT AT B2l TH. 37T, EEARRS
(A)  Pascal (B) Newton (A) Urahg (B) =gz
© Ampere (D) Joule . (C) urfigy (D) @
4. NO*js N in nature. 4. NO* 3@“_&[ L % I
(A) Ferromagnetic (A) diegadg
(B) Diamagnetic (B) wftrgeehig
(O) Anti-ferromagnelic (©) Hﬁ—?ﬂ?ﬂ.’aﬁq
(D)  Paramagnetic (D) g
5. The National Dairy Institute is located in S TS St Teorm et R 2 2
(A) Panipat (B) Karnal (A) 9rfiyq (B) =
(C) Sirsa (D) Bhiwani (C) T (D) fiarh
6. If the cost of ‘x’ metres of wire is ‘d’ rupees, 6. IRTRH ‘x” e AnTe “d’ ‘6@%, a3
then what is the cost of y metres of wire at W y Wit % a0 Y T =4 27
the same rate ? %
(A) Rsyd) @) Rs(Y) B Ry @) Rs(F)
d
©) Rs( :‘,’{—d) (D) Rs(xd) ©) RS(YT) D) Rs(xd)
7. Which of the following fraction is greater 7. Tt § @ S-arfis 3 “@l ESEET
than %and less than g ? i ﬁfﬁ?l% !
1
4 1 e N
(A) 3 (B) 7 » (A) 3 B) 2
9 2 2 2
© 15 @) % © 19 D) 3
)
4 ol LA 2 2T s ¢ 084
> - = Fm = & y 3 oA
é' . \e M 0d
é - ?2m - a p - 'i °4 ol
% Ly o
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& InHanana the Mahendragarh is famous for
(A) Leatherwork  (B)  Lac Bangles

(© Lungis D Metal work

3
o, |sin"xdx=
?

a > |

(A) - B) =
3 R
1 )

O = (D)  None of these
i )

10. Twonumbers whosesumis 32 and product
is 256, are
(A) 2.5 (B) 24,8
(€) 20,12 (D) 16,16

11. In Harvana, Ballarpur Paper Mill is
located at o ‘
(A) Sirsa (B) -Panipat
(C) Yamunanagar (D) - Hisar

12. The Novel ‘Tuttey Bandhan™ was written by
(A) Jemini Sarsar (B) Banabhatta

(C) Samprady (D) Hemraj Nirgam

13. In Pointer concept, Indirection Operator

(¥) returns

(A) Value of the variable
(B) Location of the variable
(C) Address of the variable
(D) None of the above

14.  Who is the author of the book “Third
Pillar” ?
(A) Manmohan Singh
(B) Raghuram Rajan
(C) Shaktikanta Das

(D) None of the above

.3-

S2019 (1) (BD
g harn A g Pk R veaa
() wtowd LR LG EARIES
© (D) Wiy~

\“ e
o, |sin‘xdx=

Q

Vi ) 2
A\ 3 B 3
© = M AW ad

(0, e Qe W - R dm 22 ol
TR 236 R T
(A) 27,5 (B 2
© 20,12 D) 1

48
6, 16

11, wfeon Y s e e e e e
(A T (B) W
(€) TR RIS

12, ‘e SR TR % AR WA T

(A) SRR wER  (B) womg
(C) |l (D) N fuiw

13, AR UHTUA N, TR AR (M)
1 T TR
(A) TR WA
(B) = fRfa
(C) = &t vl

(D) I A B wd T
14, “‘od e e & Saw W R ¢
(A) T fER

(D) SR A | wid
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15.  In the radioactive dcc:J)'O_ Q:cs isulucc
of the emerging _He* parti€ e cen
distance 12 x 10°°m rror::m -
residual Q”Thlu nucleus mils

force on the helium atom 00 N
(A) 222N N
(C) 288N (D) 258

16. The enzyme

converts sucrose into gluco st
(A) Lyases (B) Inve

(C) Ligases (D) Zymase

17. TheRailway Carriage and Wag s
at Jagadhri in Yamunanagar was

in the year
(A) 1962 (B) Igjg
(C) 1972 D) 1

18. Ifin acertain language ‘TRAF: :
as ‘GIZXV’, then ‘ROAST’ is written as

(A) ILZGH (B) ILZHG
(C) IZLMG (D) IMZHG
| AP P =7
19. If3+2+x-4,thenx
18 5
A) 3 B) 7
24
© 17 D) 19

20. Vishwashanti Ahimsa Sammelan—2018 was
organized in which of the following State ?
(A) Tamil Nadu (B) Gujarat
(C) Goa (D) Maharashtra

Which tax was collected by the Church
from peasants in France ?

(A) Land tax (B) Tithe

(C) Forest tax (D) Taille

21.

22. Gujari Mahal is located in
(A) Hisar (B)  Panipat
(C) Bhiwani (D) Sonipat

ob workshop
tablished

E’ is written

15.

16.

17.

18.

19.

20.

21.

22.

T iy
U o et ey 4, Ieafhq He*
EF[&EWWWQ%@%TPIB‘%%\&
12x 103
m%m m I g8 7T | Bifcram oy o
(A) 222N
(C) 288N

(B) 300N
(D) 258N
T St ofte & fem ay
Waﬁwaﬂrmﬁﬁmé?'
(A) g (B) 3o
©) @S (D) W

Egn%mmﬁiﬁ%ﬂa@m
for T woTfira fomar gy o ?
(A) 1962 (B) 1952
(C) 1972 (D) 1942

Ife ue fAfva w9 d ‘“TRACE’ &1 ‘GIZX V'
fo@ s 8, 9 ‘ROAST &t foran

ST |
(A) ILZGH

(C) IZLMG
1. 1. 1_
2TI'T:‘.’3+2+X_
1

(B) ILZHG
(D) IMZHG

4,\'-ﬁx_=?

oo

(A) (B)

©)
favaumfa s1fea a=e™ — 2018 F=fefea
T3 frg osg 8 sTifSa R mar o ?

(A) dieErg (B) SE@
(C) T (D) WENIS

g A T4 g A @ -
ERISIGIR I

R
Sl x|

(D)

[a—y
f—

(A) Y-F B) eymiw R (fi2)
() SR (D)

(A) feam (B) U

) Fmart (D) @Hd
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EmEmTmENEAN
—
"

-— it :_’\_—__ IrrerSy "—Q
- - R o €
S T transly,
L Slazeg
L) Characees
: i {B} BiL{
%+ = lD‘ B‘IQ
- - - - < .y N
=% omwiash Constomion i 1 Iy
3=z of DEmctive Princnle of Sw.,t““"“' the
A CO:::\: D on Cf L,.S \ -2 \"_\hc-\ ?
(B) onsututon of Irelang
(O oastmunon of Britain
(D) Coastwtion of Franca
23, Whach of the following place is
£pla -

larsest producer of scie

ﬂﬁﬁc and su -'ml
mstruments, hence called Scienca Cirv o

(A) .
(&)

Sonipat

(B) Yamunanagar
Sm=a

(D) Ambala

The distance of the plane 2x — 3y 3 4, - 6
from the origin is

) £ 1
A) — (B il
' V29 ‘ V29
4 6
(C) — D) —
J29 J29

27.

Irani trophy is associated with which one
of the following sports event in India ?
(A) Cncket
(B) Badminton
(C) Football
(D) None of the above

In Haryana, the district which is the
largest producer of iron pipes ?

(A) Hisar (B) Ambala

(C) Panchkula (D) Kurukshetra

1

29, Ix'q cos’x dx =
-1

(A)

(C) O

® 19
D) 2

-2

b

27.

29.

R EIR

512019 (1) (E3)
=

5“’1{&33:-@%|
A) =g
©) & ©) ez

55 SRTm S e

Tl R sy T R
(A) k= Sfyur

(B) TS w1 wiyum

(©) TRF= sy

(D) %E = Sfyum

Ffefas 1 4 S-u = 3afs ik
Hﬁﬁmﬁaﬂwﬁa@m%’ﬁg
T8 § 9% faym vy weamar 2 7

(A) T (B) IAHT

(C) T (D) 3fETeT

(B) fwyg

AT 2x -3y +dz=6 @A ?

3 1
(A) T (B) In
4 6
© - ® =
yra # frefafes 3 @ e gw wi@tm
T SO SR SRR ?
(A) T
(B) aefieT
(C) Feta

(D) Sudea & & I8 T

ZRemoT =T BH-a el e % T
TR A1 IUEH & _

A) feam (B) =Tel
(C) U= (D) Fe&d

1

wacoszxdx-—z-

-1

(A) -2 ®) 19

© 0 ©) 2
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5/2019 (1) (E3)

30. Which layer controls the operatiot
subnet ?

y of the

(A) Data Link Layer
(B) Physical Layer
(C) Transport Layer
(D) Network Layer
31. Choose the word which is least like other
words in the group.
(A) Brass

(C) Zinc

(B)

Copper
(D) |

Tin
AT .
32. Ifin a certain language ‘REMOTE" 1S

coded as ‘ROTEME’, which word would
be coded as PNIICC ?

90() PICNIC (B) PICCNI
(C) PCIINC (D) PINCIC

33. The Brass City in Haryana is
(A) Panipat (B) Sonipat
(C) Hisar (D) Rewari

34. If x=3 +2~/5, then the value of
1
(%-%)
(A) 22
C) 33

(B) 1

(D)2
142 5

i -Jaf
35, If .2 = /:1_62 , then the value of x is
X 289

(A) 62 (B) 52
(C) 68 (D) 58

36. Who designed the High Court building of
Chandigarh ?

(A) Edwin Lutyens
) (B) Le Corbusier
\  (C) Laurie Baker

) None of the above

(D)
b{"\
g’lx

\4

—
\ 7"

3o.

31.

32.

33.

34.

- yIALS

5L

35.

36.

LR AR R T S
Haz #1 ufrarem # - A feifa
FLAT R 7
(A) zre féam S
(B)  fwfsrre e
(C) Zramd ey
(D) Jzadk am

F1 e @ |
(A) diaa

(C) <&

(B) dfan
(D) f&=

Ife we fifeaa e f ‘REMOTE” &1
‘ROTEME’ % &4 #i #eas fhan sman 8, &

fora w1eg =1 e PNIICC BT ?
(A) PICNIC (B) PICCNI
(C) PCIINC (D) PINCIC

B § diget TR HH-H 8 ¢

(A) grHiua (B) Wrtua
(C) Tmw (D) Y
A x=3+22, 9 | Yx—-—
W‘@Tﬂ; (\/— J’_‘\mm
(A) 242 (B) 1
©) 33 (D) 2
Ife L lﬁ,a‘txmwwﬁm?
X 289
(A) 62 (B) 52
(C) 68 (D) 58
=dNTE I8 A % Wo o fegE
forea fomam ?
(A) TERH R
(B) it FREE
(C) Eﬁﬁéﬁ
(D) ST ¥ F g T
\eM %o
\(L \ s "&T’
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37. x=[10]
def add_list():
x=[30,40]
x.append(50)
print X
add_list()
print X
The above example prints
(A) [30,40,50]
(B) [10] (30,40,50]
(C) Error in the program
(D) [10] [30,40]

Which of the following is not includeq
in the list of Directive Principles of State
Policy ?

(A) Promotion of Village Panchayat

(B) Religious Rights

(C) Right for free education

(D) Promoting world peace

38.

39. The equation of the curve passing through
the point (1, 1) whose differential equation
is xdy = (2x* + 1)dx, x # 0, is

(B)

3
(A) '};— log x2

(©) x2+%log|x| (D) x*+log|x|

40. The probability of obtaining an even prime

on each die, when a pair of dice is rolled, is

A) - B) 0
1 1
© — D) -
36 () 3
41. How many British members of Parliament
are in the “Simon Commission” ?
(A) Five (B) Eleven
(C) Seven (D) Nine

37.

38.

5/2019 (1) (E3)
x=[10] :

def add_list():
x=[30,40]
X.append(50)

print x

add_list()

print X

S AT _

(A) [30,40,50]

(B) [10][30,40,50]

(C) SmmH g

(D) [10] [30,40]

frefaliaa # @ R vea & i s
qal o TRt A ofarq el TR R 7
(A) TTH USIEd oh) SEraT

(B) s tfew

(C) T e = ferw safeem

(D) Toarea =it 61 W= e

= g |

39, &g (1, 1) HIeaw © TSRA STelt 95
el R 3, o stewa wdem
X
©) xz-lﬁ--%log\x\

xdy = (2x? + 1)dx, x # 0% ?
3

(A) 3 (B) logx*
40. ST T T8 o I e W ©, A T ar

(D) x*+log|x|

U U G AT 9T B <ht miieRdt &
1
= 0
(A) z (B)
_d 1
Gy D) L
©) ¥ (D)
41, “‘orena s’ § gee % e fefew
g 9 7
(A) U (B) TIRE
(C) ™ (D)
\
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5/2019 (1) (E3)
42. The non-perennial river which flows in
Haryana for a length of 50 km. is
(A) Rakshi (B) Dohan

(C) Chautang (D) Indori

43. What is the rank of India in the globa!
gender equality index developed bY UK?
(A) 8I*
(B) 31
(C) 95*
(D) None of the above

44. What is the main objective of recently
concluded “Astana declaration” of WHO

and UNICEF ?
(A) To improve the health condition of

adolescent girls in the South Asian

countries
(B) To reduce maternal and neonatal
mortality rate in the South-East

Asian countries
(C) To strengthen primary healthcare

(D) None of the above

45, If — means +, ¢~ means —, T means =+,
1 means x, [J means =, then choose the

correct option. tep "
(A) 3¥632p3e685

(B) 2)&5(—z=6——>2[]6

(C) 7&43%26¥%134

(D) 5:_)7(—3?2[_]4

The first European country came to India

46.
through sea route was
(A) Britain (B) France
(C) Dutch (D) Portugal

47. Which of the following term refers to the
textual sources includes histories of the

period written by contemporaries ?
(B) Ballads

(A) Annals
(D) Folklore

(C) Velums

(N O Ay

42. sf@mm § 50 frediet a T8 arel
et 7 A - 2 7
(A) Tafi (B) M
(C) =em (D) TR

43. 7%, gro fyefaa Afvas fom aama
Wﬁmﬁmmaﬂq—m%?
(A) 8lar
(B) 31ar
(C) 95al

(D) 3y A @ IS el

44, mqa.aﬁ.ﬁtqﬁﬁtﬁaﬁaﬁ%ﬁﬁm
“ ST Faeie| 1 GTT T 1T 7
(A) zfeor uftrars e foruir ergfeRat St
ey fedrfd # Gur e

(B) sfr-gd ufkmrd 29 # Ag 37
TaSITd §og 3 1 HH HT

(C) reifireh T T@TE I HSTq AT

(D) 3Iugad H F IS AL
45. aft s ad+, Fad — 1F I+,
L1 319t x, O a7 37k =, A wel fereped g |

(A) 3,672—3¢«605
(B) 2156206
(C) 7«43161104
(D) 55731204

46. wﬁwﬁﬁmﬁaﬁmwa@ﬁm
LI
(a) foea (B) W
© (D) gt

47. i & & -1 158 GHHIAH! 51
ﬁr@aﬁm@ﬁﬁﬁﬁﬂw%,ﬁ@
el &7 sforere affferd BT @ ?
(A) HTeIgd (B) T
(C) =Hw (D) S ami
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range near a

(A) Tangri (B) Saraswati
(C) Ghaggar (D) Markanda
49. What is the rank of Haryana in India in
terms of area ?
(A) 21 (B) 13*%
(C) 28 (D) 15n

50. Optical fibre is based on
(A) Refraction
(B) Total internal reflection

(C) Less absorption co-efficient
(D) Less scattering

51. The average of all the numbers between

6 and 34 which are divisible by 5
(A) 24 B) 18

(C) 30 (D) 20

52. Complete the analogy :
Haemoglobin : Iron : : Chlorophyll : ?
(A) Cobalt (B) Copper
(C) Calcium (D) Magnesium

i

53. The integrating factor of the differential
: 2. dx _
equation (1-y )d—y- +yx=ay

(where |y | < 1) is

1 1
W T P ea

1 1
(C) - (D) 1—y?

54. The rivers which are regarded as.sacrcd
rivers in Haryana are Drishadvati and
(A) Shivalik (B) Yamuna
(C) Saraswati (D) Godavan

48. Theriver which originates from the Shivalik
‘ place called Dagshai in the
Solan district is

49.

50.

51.

52.

53.

54.

512019 (1) (E3)
EEECEIRIRERE R oy vy e e e
e I A i Y, s am e ?
(A) T

(C) ¥R

(B) H|T=d
(D) wRE=
SAEA & T § wna § wfwmon = ==
HH-ER?
A) 214t
(C) 284l

1341
154t

(B)
(D)
AlfEhet wrger frm o s @ ?
(A) T

(B) el ik WadH
(C) I3 STawIl T
(D) Qﬁﬁ'@TTa

6 3T 34 & o i it TR #1 3iwa
F e, MU= = R ?

(A) 24 B) 18

(C) 30 (D) 20

FuEqeT Ut hife :

femiireiifer « ST : : FEAARE « 7
(A) FHEwRE (B) HM

(C) Hfcuan (D) e

; dx
TR GHIF (1—y2)z,-+yx=ay

(ST&T |y | < 1) =1 ST 0T ¢ .
1
(A) e (B) V-1
1 1
© !—__Iéyz (D) 1—y?
fearom 3 e we ST e Afa guad
3 ?1
(A) Tmarias (B) I
(C) TTEdt (D) TeEd
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he nuber of arbitrary cons
| ‘ fal equation

particnlar solution ofa ditterent
of 47 ander w
(A S
W)

AL\N

n) o ‘
(D) Nooe ol these

37, The river Yamuna runs from Yamunanugihr
o Fardabad to make the flood plains.
These plains are divided into (WO parts, the
lower one is called

Nelli
Khadar

() (B)

(D)

Marshy

(C) Shivalik

58. Complete the series :

59.

60.

138, 161, 185, 210,?
(A) 258 (B)
(C) 272 (D)

216

(L]
('S ]

A PC with colour monitor 17” requires
an UPS of

(A) 250VA
(C) 440VA

(B) SO00VA
(D) 600VA

The highest elevated area of Aravalli hills
which is 652 m high, is called as

(A) Dhansihills (B) Sirsa hills
(C) Hisarhills (D) Karnal hills

In which one of the following States,
Singalila National Park is located ?

(A) Maharashtra

(B) Kamataka

(C) West Bengal

(D) None of the above

=10-

A%

80,

57,

58.

59.

60.

61.

[ DIHT DV VAT WOARE W0 TN O Y

afeeny pd mhl,
U *
(A) MY (1) o4

(Y 116 (121

‘n\"‘ 'h"l', ’m ”"h el '“h"h"’l ’L 1’{'-’]‘1

wot i adyeeg aren dn afet B

(A) 5 (1y 0

() (D) gt A A
e ) wdiarend o ard A AL 4
atrg wawt vt o6 fmior ey BB U A A
foait 1 fenfore 1 &, gt famar fedy )
R A G IR

(A) gl (B) Aot

) Rrenferr (D) @
siaren quf RO :

(38, 161, 185,210,

(A) 258 (B)y 216

(C) 272 (D) 236

17" % i At aret fEf &

pRiRCAC R ICreCTl Bl 2 |

(A) 250VA (B) S00VA

(C) 440VA (D) 600VA

ST Tl e S & e S
652 m ¥, 3 FE AL |

A) ddhTetel  (B) T v
©) fEmuwfeE (D) O T
frefifian 1 A frg Tea # famcfien @
s R © 7

(A) HENTSg

(B) FAIEH

(C) ufeem s
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62. The muffler made up of Wool whj . : §/20191) U8
around the neck is also knnwn‘:":lch worm 62, el 3 ah fa sy e ;,:: N ERIGRRLA D
(A) l)ohur B)  Pugg (R)‘:ﬂrl ﬂlﬂmknyufha
(C) Guliband (D) Sary ©) !Lvnlﬂ'l-i () 1w
63. WhliChjogllh'c ro”"‘.”ing statement refery 63, f.\l:lfé‘ﬁ?m N TN =141 T T L e
1Coolu1§ qu icial Review Power of Supreme ) =nfires i st o) dafia w1
(A) Powertoadvice the President i, legal (A) AN s A aegafa iy aens 43w
I € arfireRT
(B) Power to settle disputes between sta(c () T mennt % ale feal e
governments Bty
(C) Power to appoint Judges to lower ©) Pl s #§ =aed ® P
courts A 1 SUER
(D) Powertoexamine the constitutionality (D) aq:@ #H gamPEra ) ST A w
of laws
64. In Three-tier Client / Server database 64, -Far emEe [adTSeEE A H, W
architecture, intermediate layer is called as q FHEaTal T |
(A) Database server (A) TREE Tal
(C) Application server (C) AT Fat »
(D) Web interface (D)
65. The range of values of x in which 65. x o ALl Aol frem f(x) = x2 - 6x + 3
f(x) = x*— 6x + 3 is increasing, is IRfa e e, SRR
(A) [0, 3] (B) (===, 3] (A) [0,3] (B) (—o0, 3]
© [-3,3] (D) [3,00) ©) [-3,3] (D) [3,)
66. Alkyl cyanides react with Grignard 66. TS Al A AfTsHa F6h et
reagents to give L EGIESS AT Bl
(A) Ketones (B) Ethers (A) = ardc| (B) Et
(C) Amines (D) Aldehydes (C) ™A (D) UFSlEEs
<P g1 T T 1 T S
67. Which district is the largest producer of 67. g‘[:l?ﬁ 23 ’3&1
wheat in Haryana ? | (3AE q)ma; 3
(A) Karnal (B) ISt
(B) Sirsa © STl
(C) Ambala D) A

(D) Bhiwani
-11-
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68. ivali .
8. Shivalik Hills are the sources of many

5.

—_— 70-

71.

72,

73.

74.

rivers. One of such river is
(A) Cauveri (B) Tangri
(C) Ganga (D) Kapila

A number when divided by 6 leaves 4
remainder 3. When the square of the s2M¢
number is divided by 6, the remainder is
(A) 2 B) 0

C 3 (D) 1

Which of the following Committee
recently submitted the draft National
Educational Policy ?

(A) Madhav Gadgil Committee

(B) Raghuram Rajan Committee
(C) Dr. K. Kasturirangan Committee
(D) None of the above

Which protocol is responsible for making
sure that the commands get through to the
other end ?

(A) TCP

(B) 1P

(C) PPP

(D) UDP

The sum of squares of three consecutive even
natural numbers is 200. Find the numbers.

(A) 6,8,10 (B) 8,9,10

< 9,7,10 (D) 7,8,9

Seed Scheme was started in Haryana in
the year

(A) 2011 (B) 2005

(C) 2009 (D) 2007
Haryana is bounded by _____ in the East.
(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Indori

(D) Ghaggar
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68.

69.

70.

71.

72.

73.

74.

(A) Frad (B) 2T

(C) Tm (D) Hitem
@mﬁﬁﬁﬁ‘ﬂmﬁ?ﬁ%,a3
mm%,aaaﬁmm’fsmn@
Srer 2, Y e T A9 AR 7

(A) 2 (B) O

(C) 3 (D) 1

P & e SR 3 €1 i
Sifarer <fifey a1 FRNaT TEIA foha 7

(A) THE gufd

(B) TgUH T T

(©) . 3. T wfnfd

(D) S A & I T
{ﬂiﬁaﬁmwﬁrw%ﬂaﬁﬁﬁa
O ¥ U FH-AT1 TeIhid ST R 7,
(A) TCP |
(B) IP :
(C) PPP

(D) UDP

S SHiireh TN JTehiceh GEATST o ol 14y
2002 | 98 FEATE J19 L |

(A) 6,8, 10 (B) 8,9,10
(C©) 9,7, 10 D) 7,8,9
gfmon # forg o i e g AR !
(A) 2011 (B) 2005

(C) 2009 (D) 2007

g gd 4 aftme |

(A) T T

(B) ST

(C) A

(D) ¥R
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75, “Close all the doors.”

(A)  All the doors must be closed

(B) Let the doors closed
(C) All the doors are closed

(D) Letall the doors be closed

76. Seclectthe proverb which megng anim
It
task should be done with patie Portant

nee.
(A)
(B)
©

Rome was not built in g day

Where there is a will, there is a way
Time and tide waits for nope

D) A rolling stone gather’s p
2 g O mass

Select the Antonym of the word in capital from
the options given :

77. DILIGENT
(A) Submit
(B) Slow
(C) Junior
(D) Strict

elect a word or phrase from the given options
0 complete the sentence :

’8. Tamfedup__ staying at this place.
(A) with
(B) at
©)
(D)

for

on

. vravaz 1) UL.‘.U
Identify the figure of Speech used in the following
sentence ;

79. ‘Lifeisa dream’
(A)
(B)
()]
(D)

Personiﬁcmion
Simile
Apostrophe
Metaphor

Fill in the blank with suitable preposition -

80. TIhave not met him
(A)
(B)
©

(D) in

——  Monday.
from

for

since

Use appropriate idiom to fill in the blank «

81. Monali shed — —  togetherway

out with her mother.
(A) Tocry wolf

(B) Therat race

(C) A catand dog life

(D) Crocodile tears

Select the Synonym of the word in capital from
the options given :

82. EMANCIPATE
(A) Liberate
(B) Help
(C) Tieup
(D) Sheltering |
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fo=ht W

83. ﬁmﬁﬁm’ltﬁmmm:ﬁuﬁqﬁﬁhm
faen a8, TE e
(A) faemor
(B) waa™
(C) ¥gq
(D) ¥4

84. aaﬁ%ﬁaﬁmaﬁﬁaﬁmﬁqﬁaﬁ?
mﬁmrtaﬁ____-ﬁag,
(A) fomg-ar

85. ‘TrgH Te Sl 8| TG
F1eeh o foTe e R |

(A) wH
(B) @l
(C) Had
(D) &
86. ‘oft sy At &1’ I8 T
aAHE |
(A) H
(B) W&
(C) i
(D) S Tef

| ] TUR DU AR 1}“ i
87. Iiinsﬁz‘hﬁmmﬁwﬂtimwm AT B

R, 30 =R e § |
(A) IR
(B) 9G4+
(C) @
(D) fam

88, uw: + i =
(A) T
(B) Fefi
() =meff
(D) At

89. ‘e it} o e §E TR B 3 R
(A) oEd T &
(B) sEd Ul
(C) eEE 1 T
(D) T TR AT

90, ‘@i’ s o foreli < ¥
(A) T
(B) @&
) v
(D) o
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